LSPH!

s
w 2 L
B (K) L1 (K)
4-S F
g
P 4 N m_
M L] i T h| 1] i
EECH : H T o ® o [FT-he
[ Xell
1
Wi (K) Lo (K)
BEER ST
P =K =E | BE | kKB
LN
1712 M W L T Li (K B F SX¢
ls +0.25 | 40.25
LSP 1340 15 13 25 42 12.5 40 1 11 30 M3 X5
LSP 1365 25 13 25 67 12.5 65 1 1 55 M3 X5
LSP 1390 50 13 25 92 12.5 90 1 11 80 M3 X5
LSP 2050 25 20 a4 53 18.3 50 1.5 20 35 M5X 8. 2
LSP 2080 50 20 44 83 18.3 80 1.5 20 65 M5X8. 2
LSP 20100 75 20 a4 103 | 18.3 | 100 1.5 20 85 M5X 8. 2
LSP 25100 50 25 66 | 103.8 | 24 100 1.9 35 75 M5X8.5
LSP 25125 75 25 66 | 128.8 | 24 125 1.9 35 100 M5 X 8.5
LSP 25150 100 25 66 | 153.8 | 24 150 1.9 35 125 M5X8.5
e =

N9-8 THEC e https://tech.thk.com




N

@]
= [ ]e o
o LI® 9% |
B mm
EHEERT BSRENEY EAREE BT RE
R = KE
Ma, Mg Mc C Co
W H di Xd:; Xh Lo fi g
Nem Nem N N
12.2 7.7 3.3X6X3.3 40 30 0.88 0.49 68. 6 118 37
12.2 7.7 3.3X6X3.3 65 58 1.76 0.98 118 206 60
12.2 7.7 3.3X6X3.3 90 80 3.04 1.27 157 275 85
22.3 11 5.3X9X5.3 50 85 1.37 2.25 157 284 114
22.3 11 5.3X9X5.3 80 65 3.53 4.51 304 559 184
22.3 11 5.3X9X5.3 100 85 & 5. 69 392 706 231
38 15.8 5.3X9X5.3 100 75 9.22 14.5 588 1069 433
38 15.8 |5.3X9X5.3 125 100 12.9 18.1 735 1333 547
38 15.8 5.3X9X5.3 150 125 17.5 21.9 882 1598 652
E) _EFRAHIMGMAIMGSY B R T AN B EERT R B R 15 A
TR B399

UelegE .



LSHY

ls
w 2 L
B (K) L1 1K)
4-S F
g
T T T T
@i i f ‘1’1 [ — = iio
M ] T h__ 1 T] .
@jf: é%ﬁ I i %@:@@:@(@» & o TP ©
¢ di
1
Wi (K) Lo (K)
TBEERST
A BA | BE | BE | KE
LINES
1712 M W L T Ly K) B F SX{
ls +0.25 | £0.25
LS 827 13 8 14.2 | 28.7 | 7.6 27 0.85 | 5.5 16 M2X 3
LS 852 25 8 14.2 | 53.7 | 7.6 52 0.85 | 5.5 41 M2X 3
LS 877 50 8 14.2 | 8.7 | 7.6 77 0.85 | 5.5 66 M2X3
LS 1027 13 10 19 28.7 | 9.2 27 0.85 | 8.5 16 M3X3.5
LS 1052 25 10 19 53.7 | 9.2 52 0.85 | 8.5 41 M3X3.5
LS 1077 50 10 19 78.7 | 9.2 77 0.85 | 8.5 66 M3X3.5

B HAEX THIBERARSTFE RIS
NFRES KT

[N9-10 ArAIKK

https://tech.thk.com




@)
© —°
o o]
O
iﬁ‘[ Iomm
HEERST BSEITHIRE® EARTEBTT RE
EES =E KE
Ma, Mg Mc C Co
W H di Xd;Xh Lo £
Nem Nem N N g
6.2 4.7 2.2X3.9X1.4 27 19 0.2 0.29 39.2 68.6 9
6.2 4.7 2.2X3.9X1.4 52 35} 0. 49 0.39 68. 6 118 15
6.2 4.7 2.2X3.9X1.4 77 60 0.88 0.59 98 167 21
9.6 6.2 3.3X6X3.1 27 19 0.29 0.59 58.8 108 13
9.6 6.2 3.3X6X3.1 52 35 0.78 1.08 108 186 23
9.6 6.2 3.3X6X3.1 77 60 1.47 1.57 157 275 34
) BRI MM A3 Rl F R AN EE BT R B (E
Al E9-11

Uy HE .



T o
)
J Q  2x2-M4iREES T gt f1
12 4'¢m 4-SX¢ 55 ,h¢__|'i Ss3 4-M5%X12
T ::!: T g o A S A T
¥y ﬁ{/ / :‘f%; - 7
BSe O g dd £ ;_ pdi & o &
A\
BW wftt Alwy B2
Do 2.soxts & & o o6
Ral == | fs
i E%;t -] \ R |
F2 G2 M1 g2 f2
F1 G1 5.5 Lo
L M
=K BEERST
AfpELS 172 SEF RIS =E TE
Gl f 105 [FE (500kPaF) M W L T B
0 N 0. 05
LSC 1015 15 10 38.2 25 50 80 24 20
LSC 1515 15 15 86.3 30 70 80 21 30
LSC 1530 30 15 86.3 30 70 110 21 30
LSC 1550 50 15 86.3 30 70 150 21 30
HEERT
NFRAIS
Aﬁ’g;? Lo B: f2 [oF) £ (o]} di Xd. Xh A Ss
LSC 1015 80 20 40 20 — — 3.3X5.5%3.5 13 w4
LSC 1515 80 30 40 21 23 29.5 5.2X9X5.5 17 3
LSC 1530 110 30 60 25 40 35 5 2X9%5.5 17 M6
LSC 1550 150 30 100 25 78 36 5 2X9%5.5 17 M6
ANFREL S B LB
LSC1515 B S L
=9y VY
NRES
HRTEE
HANERIE AR
H R BIFF K
JE) BT R SMNEREAR A PR B FF X ANIE A FLSC10158!
R HIEE B .
[9-12 A R a ARSI https://tech.thk.com




/Mc\.
@® @®

o) o
= I e ]
fe o
o) o - =
B mm
BEERT -
Fi G SX? m G, F. J Q R M
B
40 20 M4 X7 5.5 12.5 40 — — — 16.5 ;}i‘)l"
40 19 M5 X 8 9 28.5 40 29 22 4 21 :5'-
60 25 M5X8 9 35 60 44 22 4 21 ‘I'B
100 25 M5 X 8 9 50 50 64 22 4 21 F“
EBERT BEEATE EABAEE RE
M., Ms Me C Co
W, H S: X, Nem Nem \ X kg
31.2 55 M5 X5 4.9 7.45 392 676 0.25
45 10.5 M5X4.5 4.9 1.1 392 676 0.37
45 10.5 M5X4.5 8.43 15. 4 549 951 0.52
45 10.5 M5X 4.5 15.4 22.1 794 1350 0.72
SE) ERABAIMMFIMSY B R TR N B EERT R D FEME .
TR [N9-13



IR FE B8

RIS R AR AN EI2FR 7R
RSN
G2l - HOFHHRD

EHETEE BE

LSCRIEREMBATEE(ES), TRERATH
MITIRA SR T X.F, £EEREE
B, AAEB T EE R ARIRRARMNE.
(LSC1015BR4R{#.)

185 n k n
il
L ] T F G
= I
O
8 g Al ' S
y s d
2x2-M5 A'j ‘ f1 gt i .
N 92
il
B T e B
2X4-M3X8
9
B mm
BT EENRT
L B G fa o]} K n N [oF} kg
LSC1515M 80 40 21 23 29.5 56 12 68 6 0.12
LSC1530/ 110 60 25 40 35 74 18 94 8 0.16
LSC1550 150 100 25 78 36 14 18 134 8 0.21
[N9-14 TR



BREIFF X

PREVFFXBIR TN T .
CPRBNFFRBIRT)
el D2VW-5L2A-1 (BR4EA) —NC
ey LV S #H) o——1NO
—COM
(FRERT)
TR RE G 3 (A) EPRARE ALY
xp | BERE RIfEL Soh A
BEXHA | BEFR | BFEXH | BEFR | BEXA | BEAR
125 5 0.5 4
AC
250 5 0.5 4
D2VW-5
30 5 3 4
DG
125 0.4 0.1 0.4
E1) ERBUERRIEEER.
2) BRGERRINEZRHO0. 7 E(GERE), FEEHms AT (ERE).
3 EPAHER 0GR ERR.
SE4) ERFIEERRIBIIS C 4505, EATEH FIHITIREHA.
(1) IFEFRE : 204£2°C
(2) IFBEREE - 65+5%RH
(3) #HAESHZR : 30[E]/min
) WU Fadk (DC5~24V) TEART, BN EEL (EMFRIBETHCE .
TR B9-15

UelegE .



